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APRIL 2021 62511/CA32A

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

1.  Write down the equation of a straight line.
CrirCam_iger FaTUTL L 6T(LpSIs.

2. Find the slope of the line given by the equation
—2x+4y=6.

—-2x+4y=6 earn OCsr&sLULL  FOTUML g6
Camiiger gmiellenar serh .

3. Find the 17t term of in the series ¢, = n(n +3) .
n+2
t, = n(n +23) e GQgmifle 177 o piGever
n+
SeT(H L1 .

4. IfAM.=13,GM.=12then HM.=?
AM. =13, GM. =12 erasfléo HM. =?

5.  Integrate I(sz —3x” + 7) dx .

J.(ng -3x" + 7) dx & Qsrensud(Hs.



10.

11.

Integrate I(2 +3x) dx .

J.(2 +3x) dx & Qgrensui(Hs.

Define definite integral.

cuaTUmIGSLILL L CgTensuileme cuenruimI.

Write down the Newton’s forward interpolation.

Bl Lafler perCammée @l Fosmad G&s5Hrs5ms

T(PGIS.

Define scalar matrix.

Sengulledl anfludiener cuanyuim.

Define square matrix.

&3 Semilenw euanFwim).

12 -1
If A=30 2|, B
4 3 0

A" +B" =?
12 -1 1 0 0
A=|3 0 2|, B=2 1 0
4 3 0 0 1 3
2

S N =

then

[ )
w O O

aaflo AT +BT =?
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12.

13.

14.

15.

16.

IfA:{1 2} and Bz{5 1} then find AB.
3 4 0 2

3 4

1 2 5 1
Az[ } HmILD B:{O 2} crafleo AB o
sSeT(H 91 .

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.

If a line has a length of 5 and the end points are
(0,0) and (4, y) what is the value of y?

@@ Camiger Berd 5 wHMID SiF6m (Piga|ll Laraflser
(0,0) wHmbd (4, y) eraled y—ar LI eremer?

How many terms are there in the GP
2,4,8,...128?

2,4,8,...128 eerp QuUmsEs Osmifled eassamen
2 MILILGET 2 eTeran eram Sar(h L.

2
x
Integrate | ————dx.
g J.«/(x+1)
2
J-—dx & Qgreansui(Hs.
Jx+1)

Integrate j(2x +5)"%dx .

J-(2x +5)’dx & Qsrevsud@s.
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17.

18.

Using Newton’s Forward interpolation formula
find the values of y at x =21 and x =28 from the

following data :

X: 20 23 26 29
y:|0.3420 | 0.3907 | 0.4384 | 0.4848

Ayl Laflar wparGamés @aLFdsmsd &SET5ms
vweru@ss  Qar@ssiiuc L feurhsaiids  @)mhs
yer wHidenar x =21 womibd x =28 erayd Cumg
seT(H g .

X: 20 23 26 29

y:|0.3420 | 0.3907 | 0.4384 | 0.4848

Use Lagrange’s formula to fit a polynomial to the
data and hence find y(x =1).

x:|-1]0|2]| 3
y:|-813|1]|12

Qarhésiur L Qevgrmendlufler &GS TS
vweatu(Gss  eleurhmis@EndE @ Ue@imiliLg
Cormeuemw  Qummsg. Cwoad  y(x=1) e
o UGener &esr(H .

x:]-1(0]2] 3

y:|-813|1]|12
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19.

20.

2 -1 0 -2 1 1
If A=|10 -2 1|, B=|1 2 -2| then find

1 0 1 2 -1 -4
AB and BA.
2 -1 0 -2 1 1
A={0 -2 1|, B=|1 2 -2| cafl®®o AB
1 0 1 2 -1 -4

wHmibd BA eveu samhilyg.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Obtain the equation to a straight line which
passes through the point (-2,-7) and has a
length 3 intercepted on it by the parallel straight
lines 4x +3y =12 and 4x +3y=3. Find how many

such lines are there?

(—2,-7) erep yerefl auflé Qecauid wHmD Harld
3 yerg 4x+3y=12 womibd 4x+3y=3 eremw
@aemrwins CrrGsrHsmer @eLM&@n eafld erbs
CrrGamiger Foearum el sar@Hdy. Cogb idld
@ag Cumearm erssemen CaTHSET 2 6TeTar 6TemmiD
a9l
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21.

22.

23.

(a)

(b)

()

(a)

(b)

(1)

(<)

Find the sum of the first 50 terms of the
sequence 1, 3,5, 7,9, ...

Find the sum of the series
51+50+49+...+21.

1, 3, 5, 7, 9, ... ereip Qzm_Mer wpsad 50
o miriLsefler snBHgamerd sHes (9l

51+50+49+...+21 GTEITM Qg m_fewr
(DSOS H6ir(HLlg .

2
Find J-(x?’ +2x% + 5) dx .

1

Integrate Ixz(axg + b)5 dx .

(x3 +2x% + 5) dx —sem(Hlig..

= S DO

Ix2(ax3 + b)5 dx - Gsmansui (B s.

Using Lagrange’s interpolation formula, find y(10)

from the following table :

x:| 5] 69|11
y:|12 13|14 | 16
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24.

Qevgrmensluler @ FC&maee &GS TS
vwerU(Hi$S) Weireu(mLd <L cuenanrudladl(mbs)
¥(10) e wHdeer ser(HL9g.

x:| 5] 69|11
y:|12 13|14 | 16

1 2 -2
If A=|2 5 —4|thenfind A™".
3 7 -5
1 2 -2
A=2 5 -4 ereafled A7 e g9 ener
3 7 -5
seT(H g .
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